H & 0l & AHS B Ml A

2026E 5 20ilaF LBkl KPS RH
SA KA R
B QeI oY ¥ =2
SRl K ol & S2XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
KA TH 10 232,005,404 143,297,234 88,758,170
= 484,100
[ 121,646,000
= 22,925,304
H 87,000,000
A oY R =X 186,864,320 107,816,800 79,047,520
= 484,100
[ 121,646,000
= 8,734,220
H 56,000,000
AT ol & S22 X3 186,864,320 107,816,800 79,047,520
= 484,100
= 121,646,000
= 8,734,220
H 56,000,000
oIS XA FHI (A2 R2) 180,624,000 103,225,500 77,398,500
[ 120,416,000
= 4,208,000
H 56,000,000
403 MR HHMSAHE01H 180,624,000 103,225,500 77,398,500
[ 120,416,000
S 4,208,000
H 56,000,000
01 A2 2L 180,624,000 103,225,500 77,398,500
OXS A HE X ZHIALS 114,163,500
= 76,109,000
& 54,500
H 38,000,000
O3 ol 4&a SSIHIAL 56,178,000
= 37,452,000
[ 726,000
H 18,000,000
OMS M=K ZHIAE 7,113,000
= 4,742,000
< 2,371,000
OSZ AN SUAE XS ZHIAE 3,169,500
[ 2,113,000
= 1,056,500
Mol IS XS EH( ) 2,460,000 1,650,000 810,000
= 1,230,000
=S 1,230,000
401 Al HIZL 201 2,460,000 1,200,000 1,260,000
= 1,230,000




SA KA R
BH: TGO OY U SRR
SRl K ol & S2XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,230,000
01 AlZ2H| 2,460,000 1,200,000 1,260,000
OSZ AN SUAE XS ZHIAE 1,700,000
[ 850,000
= 850,000
OXS A IHE X7 FHIALS 260,000
= 130,000
=S 130,000
OSZ ARl AEHZA} 500,000
= 250,000
< 250,000
SSAIE=E WAEH 342,000 837,000 495,000
401 AIEHIZ SR OHYI 342,000 837,000 495,000
01 Al&HI 342,000 837,000 A495,000
O=3AdE W22 342,000
Hetieed =2 11,000 11,100 A100
308 XXM SOIA 11,000 11,100 A100
01 XN B2 LS 11,000 11,100 A100
OMgtsad =48 11,000
A2 243 X3 471,400 287,000 184,400
201 eer23y| 11,400 12,000 2600
01 AtR2t2|HI 5,400 6,000 A600
O =g ogs 23| 5,400
03 A2 HHI 6,000 6,000 0
OS2 M Agdst = 6,000
307 glztol & 50,000 50,000
02 LB HAHE L 50,000 50,000
OXtsg e s NA S 50,000
308 AXIHSOIA 300,000 180,000 120,000
01 XN BSELES 300,000 180,000 120,000
OAlZ XM 283 S 300,000
403 AXIEHMSA=Z0l1d 110,000 95,000 15,000
01 MHXIHHA 22X 110,000 95,000 15,000
OOIMAl A=Y E JISEH At 25,000
OgdAl T2 SHS =T &1
KA 75,000
STA AESME JIS2LAE 10,000
MNANWHH S =8 40,880 43,300 N2,420
201 er=23y| 38,000 39,700 1,700
01 AtR2t2|HI 35,000 36,700 A1,700
OMoiEAIS &H S At HE A2+E 7,500
OMaHHZNSXE 4 & 2lE3 MA S 6,000
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SA: A
M NS oy € =203
X ole

SRl NS dY & S0 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 12,400
183 S| 2SO ZB XA AIE 24,800 24,000 800
Olts+= 2208 23 24,800
= 12,400
= 12,400
e FAAEZ NS IHAIE EXA 400,000 375,000 25,000
= 400,000
403 AXIEHMSAH=Z0l1d 400,000 375,000 25,000
= 400,000
01 AXISHHA =22 & 400,000 375,000 25,000
O+ FHATZ NS IHAE XA
& 400,000
= 400,000
IZARE LHEIZ2Z KIZ A 35,000 97,800 262,800
= 35,000
403 AXIEHHSAH=201H 35,000 97,800 262,800
= 35,000
01 MHXIHHA =222 35,000 97,800 262,800
OuRtAFRZ HAUEL KA 35,000
= 35,000
Mo M2 SSHE ~e8E 1,200,000 0 1,200,000
401 AIZHIZL S HE 1,200,000 0 1,200,000
01 Al&H| 1,190,000 0 1,190,000
OXMSMei M2 SeHE eSS4 1,190,000
03 Al = THHI 10,000 0 10,000
OX M2 SetH & ~8s9 10,000
MHEESMAIAYE 2 19,450 12,000 7,450
HHEESAAIAE Al 25 & 2F 19,450 12,000 7,450
MHHEESAAIAY 22| 19,450 12,000 7,450
201 Let=23 | 19,450 12,000 7,450
01 At22te|Hl 2,250 0 2,250
Ot s s 4ELTEYN 2L 2,250
02 S3=gHl 17,200 12,000 5,200
ONMHEESA ZHl ¥ X& |l 17,200
HeEsS (RS TH D 45,091,054 36,391,004 9,700,000
= 14,091,004
H 31,000,000
SAXNE (RATH L) 3,134,400 1,550,400 1,584,000
L (Ss=s012 UHLZ) OIXHaHE 3,134,400 1,550,400 1,584,000
311 XS0l Aratat 3,134,400 1,550,400 1,584,000
02 Ss=8I|1 &L S0l Attt 3,134,400 1,550,400 1,584,000
OMoiAE X+ ZHl XM Ol K&k 384,000




SA KA R
3 HPES(HATHHD)
celr 2EXNE(XATH ) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONli==0l= 8& N2 Olkt&tet 916,800
ONt2els 8 N2 OlAt& & 1,833,600
WS HRHKI = (KHAT 1) 41,956,654 33,840,654 8,116,000
s 10,956,654
H 31,000,000
HdE= S WEHH 195,654 195,654
705 Ol==Eci=ae 195,654 195,654
04 Al - EXENLI S0+ 01 Rhatgt 195,654 195,654
OMHAS X7 FHIAY XIHLI1= Okt
o 124,884
OSZAH SUASXNS ZHIAIY NS
12 Ol Aratet 63,770
OSSAE= HWAEZAE XIS 0l
Abatet 7,000
Mol 1201= HES 17,607,000 11,215,000 6,392,000
< 5,607,000
H 12,000,000
R I1sdES 17,607,000 11,215,000 6,392,000
= 5,607,000
H 12,000,000
01 JIsdEsS 17,607,000 11,215,000 6,392,000
OMoi#=2lI= 8= 12,077,000
= 77,000
H 12,000,000
O2023~20242 S 2LIUISH AIRAIE S HEXIA
= ¥ SEE22 THIZ NE 283 5,530,000
MHet2eDls d&Es 24,154,000 22,430,000 1,724,000
= 5,154,000
H 19,000,000
®RIIsdES 24,154,000 22,430,000 1,724,000
= 5,154,000
H 19,000,000
01 JIsdEsS 24,154,000 22,430,000 1,724,000
Oont2els 8= 24,154,000
=S 5,154,000
H 19,000,000
HY2EZHI(XSA D) 80,580 77,380 3,200
=22 (RFATHE D 80,580 77,380 3,200
J122HI (XS TH D 80,580 77,380 3,200
201 er23| 38,400 36,800 1,600
01 AtR2t2|HI 38,400 36,800 1,600
OXNt gRFN 38,400
202 04| 38,400 36,800 1,600




A XA
M HE2HHHI (AT D)
etelr D2 (RS T D
= - d L=
S - BE - B9I(3H) - NRAY - BES il v e
01 =LHO LI 38,400 36,800
OSSN 2= 38,400
203 R =& 3,780 3,780
04 FEXMSEYRFAH 3,780 3,780
(@PNZe:DN I=an; 3,780




